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1)

(V3-v8)(V3+v2)=3+y6-2/6-4=-1-V¢6

2)
(3 5y 10) 430y 2=(3y5 -y 10 ) (3y5 -4 10 ) +30y/ 2=
=04/ 55 -3y 25534255 +4/ 102 4309/ 2 =45-304/ 2 +10+304/ 2 =

=55

3)
(Vo—v3) o/ T=(y6-y7) (Y6-y7) +y 2~
=6—4/233 -4/ 33243+ 2°66=6-312 32 +3+692=9

4)
(VE—T5) /300 = (V5 T5) (YT 15) +/ 51010 =
=5—4/3-5-5 =4/ 3-5-5 +15+104/ 3 =5-5y 3 =54/ 3 +15+10y/ 3 =20

5)

(Y10-3y5) 46y 18=(y 103y 5) (Y 10-3y5) +6y/332=
=10—34/2'5'5 =34/ 255 +45+18y/ 2 =10—15¢/ 2 —15¢/ 2 +45+18y/ 2 =
=55-124/2

6)
(6v2+3y3) —18y24=(6y2+3y/3) (6y/2+3y/3 ) ~18y 226 =
=72+18y/6 +184/ 6 +27-36y 6 =99
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1)

Y 50a —y 8a+y 18a=4552a—y222a+y233a=

=54y 2a =24 2a +34/ 2a =6y 2a



2)

64/ 361 —4/ 14dx +4/ 81x =364/ x —12¢/ x +9¢/ 1 =334/«

3)

5’./ 45y _}/23}, +5}/ Eﬂ}-‘=5}/ 5:3:3-y _}/5.2.2.}, _|_5V{2.2.2.2.5.}-:

=154/ 5y —24 Sy +244/ 53;:371{ 5y

4)

3y T2a —+/ 242a 54/ 32a=34/2-2-2-3-3:a—4/ 2-11-11'a =54/ 2:2:2°2°2'a =
184/ 2a — 11y 2a —20y/ 2a =—134/ 2a
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1)

(V3 3) =300 = (V3 +3) (V3 +/3) —3(e0) =

=3x+4y/ 313y +4/ 3x3y F3v—3x—3y=24/ 313y =6/ x»

2)
(21“ X+l )(21“ x—1 )—(2x+]]3=41/ (x+1) (x—1) —(2x+1)2=
4y 22 —xtx—1 - (20+1)2=4y/ 22 =1 — (2x+1)>2




